
PIECE DESIGNATION QTE REPRESENTATION

A
 

PLATEAU
 
 

 
 
 
1
 
 
 
 

 

B PIEDS DROIT
 2  

C PIEDS GAUCHE 2  
 

D TRAVERSE
 2  

E
 

ASSISE
 

2  

F RENFORT
 2  

I
 

ÉCROU M8 mm
 

16  

II
 

VIS M8 x 90 mm
 

16

III
 

VIS Ø4,5 x 70 mm
 

12  

Notice de montage
Table pique-nique L177   

Ref: 1144

07.12.18



 

2

2xIII

2xIII

2xIII

2xIII

2xIII

III

III

2xII

2xI

III - Ø4,5x70 mm #12

I - M8 mm #16

II - M8x90 mm #16

A

B

C

B

C

F

F

E

E

D

D


